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INSTRUCTIONS TO CANDIDATES

(Use only dine/black ball-point pen in the space sbove and on both sides of the Answer Sheet)

1. Within 10 minutes of the issue of the Question Booklet, check the Question Bookiet Lo ensure that it
contains all the pages in correct sequence and that no pagequestion is missing. [n case of {aulty
Question Booklet bring it to the notice of the Superiniendent/] nvigilators immediatefy to ablain a

- fresh Question Booklet.

2. Do not bring any loose paper, written or blank, inside the Examination Hall except the Admis Card
without ifs envelope.

3. A separale Answer Sheet is given. It should not be folded or mutilated. A second Answer Shewt
shall not be provided. Only the Answer Sheet will be evaluated.

4. Write your Roll Number and Serial Number of the Answer Sheet by pen in the space prvided above.

X, On the front page of the Answer Sheel, write by pen your Roll Number in the space provided at
the top and by darkening the circles at the boitom. Alse, wherever applicable, write the Question
Booklet Number and the Set Number in appropriate places.

6. No overwriting is allowed in the entries of Roll No., Question Bookiet no. and Set o, (if any)
on OMR sheet and Rolf No.' and OMR sheet no. on the Quesion Booklel.

7. Any change in the aforesoid entries is to be verified by the invighator, otherwise it will be taken
as anfoirmeans. ;

8. Fack question in this Booklet is followed by four alfernative angwers. For each question, yok
are to record the correct option on the Answer Sheei by darkeniog the appropriate clrele in the
corresponding row of the Answer Sheel, by pen as mentioned in the guidelines given on fhe
[first page of the Answer Sheet.

8. Forcach question, darken only one circle on the Answer Sheet. |f you darken more then one circle
or darken a circle partially, the answer will be treated as incorrect.

10. Note that rhe answer once filled in ink cannot be c&anged. If you do not wish 1o altempt a
question, leave afl the circles in the corresponding row blank {such questivn will be awarded
zera marks). '

11. For rough work, use the inncr back page of the title cover and the blank page at the end of this
Booklet. .

12. Deposit only OMR Answer Sheet 2t the end of the Test.

13. You are not peemitted 10 leave the Examination Hall untii the end of the Tesl. “
14. 1f 2 candidsate stiompts to gee any form of unfair means, Wm&mmlﬁmt as
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14U/ 102/26(iii)
No. qf_Qunlﬂom : 200
gl @ e : 200

Time : 2 Hours : Fuil Marks : 300
&%y ; 3 W2 : quiff : 300

i . es 3
Note : (1] Attempt as many questions as you catl. Each question cartries
ote:tl (Thrml:] marks. One mark will be deducted for each incorrect

answer. Zero mark will be awarded for each unattempted
question. *

mﬁmﬁhﬁmﬂﬁmmﬁmmﬁmﬁmmum}
#ﬁaﬂ%gﬁib'maar%mwmsmm:
% TR ¥ Wi fF S

(2) If more than one alternative answers scem to be approximate to
the correct answer, choose the closest one.

mmmwww%ﬁmmaﬁm

el IAC 2|

i i tions 1 and II are
3) Th r comprises of Five Sections. Bec _
X co::pp:!gzw whereas only one Section out of I, IV and Vs to

be attempted. |
mnmﬁaﬂwhwrwnaﬁaﬁ%mﬁw

m,Ivg VvH 4 Bt O @ IaY & B

3' | nTlo-
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Section - 1
ooy -1

Mental Ability
(Compulsory for all)

Which number would replace question mark in the series :

AR X grmes Ree 3 e o wd s g
7,12, 19, ?, 39. |
(1) 29 2 28 (3 26 @) 24

Spot the stranger in the following :
(1} Rose o -{2) Marigold
(3) Lily (4) Lotus

ﬁﬂl%mﬂffﬁahﬁmwm&lmahgaﬂ%mmﬁit%m
AT R ?
(1) T @ Aivies  (3) Rl (4)  FTA N

Which city out of the following is known as thc cnty of Lakes and
Mountains ?

(1) Jaipur .\ (2) Haridwar

(3) Bhopal {4) Lucknow
ﬁﬁﬁrﬁaﬁﬁﬂamﬂmmtmsﬁﬁmmmm
TR AT B 7

(1) JEyR (2) wfaET (3) A9 (4) I=7=
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Who is the cricket player of Ifidia who has received the first Bharat
Ratna during the year 2014 ?-

(1) Dhyanchand Mt oy M.S. Dhooni
(3) Sachin Tendulkas ~ -(4) Virat Kohli

Preaffters & @ sreaad @ P ar B Reerdt & P 2014 %
2W & gEA WE-IT Wi Rear ? .
(1) o= =% (2) =% Rie oF

(3) @R JIFABT 4) faae @
Which one of the following animals is vegetarian ?
(1) Wolf " (2) Rabbit

(3) Fox - | (4) Wild bear

Rrefofe 3 @ €9 @1 dar AFE< 2 A 5 g B 7
() Mg ) @AW (3} amA [4) ST WY

Find the odd one :

e qeenfag -
(1} EDCBA (2)  PONML (3) UTSRQ - (4} YXWVZ

At what time between 7 and 8 o'clock will the hands of a clock be in
the same straight-line but not together ?

L 2
(1) S minute passed 7 (2) 11 mmutes passed 7
4 3 . 1‘5_
(3) 33; minutespassed 7 141 in mies pamd. 7
5 | RO
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10,

o St udl § 73R 895 B A & fpw aw ggat o @t wge
? €Pfl AT T W Té ?

(1) 7&% & 5PFFme T (2) 7@%5%&{“@:

B) 7aR A S%ﬁﬂ‘eaﬂa (4) fﬁﬂS%ﬁiﬂEaﬁ

Choose the numbers which is different from others in the group :

TE q T "emr Bt gihu ¢
(1) 751 (2) 734 (3} 981 (4) 853

e r— ey

Choose¢ the number which is different from others in the group :

WE | oW wEa B gy ¢
(1) 12 (2) 25 (3) 37 ) 49

e —,

The difference between the interest received from two banks on Rs.500

for 2 years is Rs. 2-50,-then the difierence between their rates is :
(1 1% (2) 0.50% 3) 250% (4} 0*25%

9 A IH A PR = ;| ooraT 29 # 500 €93 9T 2.50 B9
%, N 39 A FE A s oW oo 8w

(1) 1 uigras (2} 0.50 ofeIaTer

(3) 2.50 afagy (4) 0.25ui%r31?r
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11. I 5 men, working for 6 hours a day can reap a field in 20 days, then
in how many days, will 15 men reap the field ? The hours of the day
may be taken as 8 hours :

i
(1) 5days - [2) 6days (3) 75 days (4) 9 days

I S T T AT 3 B 6 5 uRiRT aes, 20 R § @9 Fed
t,ﬁlswmaaﬁﬁaﬁﬁﬂﬁﬁﬁ,wwﬁﬁzﬁs
He & HEAT 9 7

(1) SR (2) 6 (3) ?%f‘d:r 4} 9=

12. In an examination, 35% of the students passed and 455 failed. How

many students appeared for the examination ?

o Thwr 7, 35 gfaver B ard ge ol 455 B g, T glew H
fwrt BT A3 gT & 7
(1) 490 (2) 700 (3) 845 @) 1300

13. i one-third of water tank holds 80 litres of water, then the quantity of
water that can be held in haif-full tank will be :

(1) %q litres (2) 100 litres (3} 120 litres (4) 240 litres

mmﬁuﬁa‘ﬂﬁﬁ%—ﬁ’rﬂuﬁg{%‘ 80 fey Tl T@ aEd
B, amwgmmmwm%?

1N L My (2) 100#RT (3} unaﬁa (4) 2405’;}?{

3
7 -,ﬁo.
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14. The area of largest triangle that can be inscribed in a semicircle of
radius '’ is :
(1) 2rcm? 2) Pcm? (3} 8rcm? (4% 2 grcm?

OF TN qB PS5 Awd S B vt @R A -
ST FEWT 1T 8, B

(1) 2r T Fflo | (2) r?2 3 o

3) 8r a3 Alo (4) 2ar T o

15. A train which is 700 m long, is running at the speed of 72 km per
hour. If it crosses a tunnel in 1 minute, then the length of the tunne!
in meters is :

(1) 700 m. (2) 600 m. {3) 3550 m. (4] S00 m.

o WP Rraddt smnd 700 Wit 8, 72 Rrirder gfy 6 &) i
¥ 7 W 1 oI 9% W uw I @) | frve F qre wed B, @
g # e diee # @ -

(1) 7003 (2) 600WIRT (3) 550X (4 500 M2

16. The ratio of number of boys and girls in a school of 720 students i
7 1 5, then how many more girls should be admitted to make the ratio
asl:17? .

720 Fremet At o grewren # wsEt o wefedt @ stqum
7:5% O ¥W SV W 1:1 TR P R Rl o wehea o
AL HETTEH B 7

() 90 (2} 120 (3) 220 (4) 240

17. I the perimeter of a rcctangie is 82 m and the area is 400 m?, the
breadth of rectangle is ;

(1) 25m. (2) 16 m. (3) 9m. (4) 20 m.

L]
gcollegedunlae
India’s largest Student Review Platform

T



14U/ 102/ 264111

qmwmaﬁﬁﬂ(qﬁm)azrﬂﬂ%ahmmmo
wifee B, @ amma @ ArETg Ben

(1) 25T {2) 16 AET (3) 9| (4) 20#=T

18. T.hﬂ <urn of two numbers is 80. if the larger number exceeds four

times the sraller onc by 5, then the smaller number 15 ¢

mm@mﬁ,ammm:
{11 S (2) 15 (3) 20 (4) 25°

mﬂﬁm&ﬂwﬁh&o%,ﬁma@mﬁﬁ@n,mmsﬁ

19. A and B are brothers. C and D are sisters. A's son is [¥'s brother. How
is B relatedtoC ?

(1) Father (2) Brother

{3) Grandfather (4) Uncle
ﬁaﬁTBﬁ’lﬁméﬁlcaﬂTDé\ﬁaﬁ%mﬂﬂmnmqﬁ
% @ B 3T ¢ & R T ?7

(1} few (2) wig (3) =T (4) ==

20. Sunita ranked 1 1" from the top and 27* from the bottom in a class.

How many students are there in the class ?

@ﬁmﬂgﬁmmﬁllaﬂﬁ?ﬂ?éﬁﬁﬂﬂﬁw
qt'%,tﬁsﬂﬁmﬁﬁﬁﬁﬁm&ﬁ* 1 &7 o
) 28 . (2) 28 (3) ‘_*0.‘_ (4)

P.T.O.
9
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21. Find the missing number (?} in the fotlowing figure :

Frefferm fers & et (7) wier =) srer abifon -

AN AN AT
- &y

(1) 52 (2) 36 3) 117 4) 81

22. ldentify a wrong number in the following series

ﬁw%mwﬁmmﬁwmﬁqﬁrﬁﬂﬁa%

7, 28, 63, 124, 215, 342, 811
(1)‘ 7 2) 28 * (3} 124 . {4) 21s.

23. Find out the missing number in the following :

ﬁ*ﬂﬁ?ﬁmﬁwmaﬁwﬁﬂ
(o ot 6 Bz @ B

(1} 48 2) S0 3) 78  (4) a2

24. Choose the group of letters which is different from others ;

mﬂﬁﬁw%@mmﬁﬁ%wﬁ%
(1) ABD (2) HIK @) vwz . (4 QRT

45. If GIVE is coded
i L as 5137 and BAT is coded as 924, then GhTE

HTT GIV
R 020, % oAt Sa . T 8 o 3 ¢ BATN dg R e

(1) 5427 (2) 2547 (3} 5247 ' (4] 5724

10
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46.

27.

28.

29.

14U/ 1021 26{ilt)

Section - I
- wE -1
Chemiatry
J[cgt,nppl_ogry for all)
A metal nitrate reacts with KI to give a black precipitate which on

addition of excess of KI converts to orange colour solution. The cation
of the metal nitrate 18 ©

gee S HTH wen wad A ¥, ofw ki
%ﬁﬂrbﬁmgwﬂwm‘é\m%lma@zmw

?1]: Hg' (2) ‘PL* (3 W - (4 B

The two forms of D-glucopyranose obtained from the solution of D-
ﬁ:mf:aﬁ:i:: (:2) epimers (3) anomers (4) isomers
gﬁ@%g?ﬁmﬁn-@mﬁﬁ%,ﬂﬁaﬁﬁﬁﬁﬁ
() sifes T (2) S0 (3) TAE (4) SATEFErTE

) ive towards nitration i :
The compound that is most reacuve : _ ;
(1) tﬂluﬁte (2) benzene (3) benzoic acid (4) nitrobenzenc

Aty mﬁm.%mﬂa‘iﬁmﬁaﬁw% iy
(1) 2= (2) (3) FmEs S {4) Argerand

Kolbe's clcctrolysfs of ;;Jotassium ‘succinate gives : e
(11 €O, and cthane {2) CO, anii ethen
(3) CO, and methane . (4) CO, only

(1) R g offFaRs °d
{:juﬁ#'ﬁ'm@if;tm

(@) F g Stemes OF WA
{4}@3@&1;1%311@33_

PiT.O.
11 R

L]
gcollegedunlae
India’s largest Student Review Platform

—



140/ 102/26{il1)

30. An enantiomerically pure acid i ith
_ ' 1§ tregted with a racemic mi
alcohol having one chiral carbon. The ester formed will beu::turc of an

.

(1} an optically active mixtuye (2} a pure enantiomer

(3) ameso compound (4) a racemic mixture
TH aﬁfh% il I F CReT 3 Wi Fored o s
FET 8 ﬁimmﬁqwm?eré‘mtﬁw( =
(1) T% Wi wfésy farsmor (2) v S =y
(3) v Hrey Nty (4) O feysyoy
B . : T

1 L‘L;tta;l::;f the foilowing compounds is oxidised to prepare methyl ethyi
{l) 2-propanol | (2) 1-butanol
{3} 2-butanol | (4] tert-butyl alcohol
mammamamwmqmmw
(1) 2-93+ter (2) 1-593e R
(3) 2-s2Aey (4) qvas-sgfes awprew

32. Benzene diazoniju ;
m chloride reacts wi i -
medium to give ; with phenol in a weak basic

(13 diphenyl ether N -
(3] chlorpbenzene : 4’} 5:1}::; ":‘Y azobenzene

AR AN SR wigs

e A w3 o v e g S R & gdw andg
(1) TERF $ux 21 A- ‘

(@) T o Tk el

33. The reaction of toluene wi ine i
: th chl . ]
Bives predominantly chloTine in the presence of ferric chlaride

’ .
([-g: E::zafl ;i‘llc{nda _ (2) m-chlorotoluene
zyl chloride (4) Q and p-chlorotoluene

12
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W(Tnlucne)ﬁmﬁﬂ'ﬁﬂ%wquﬁ
aqﬁuﬁtﬁam%ﬁﬁtngamﬁ

(1) T TGS L (2) ReT-FegET

(3) AT RIS (@) sifelt ot Y-FeIE
34. 1-Chiorobutane on reaction with alcoholic potash gives !

(i} 1l-butene (2) 2-butene

(3) 1-butanel (4) 2-butanol

1-@@#@@%%%%%%%:

(1) 1-82H - (2) 2327

{3) 1-=Rler | (4) 2-sgesta
38. Among the following which one is the most basic ?

{1} Aniline (2) . Benzylamine

(3) P-nitroaniline (4) Acetanilide

74 q 49 EIMT A B

(1) o (2) AT WA

(@) Ju-sEeeT (4) CREAIES

36. The complex ion whith has no d-electrons in the central atom 1§ :

a6 wiaRrr oftet e defa g ¥ A 4TI T W
(1) MnO, (2) Fe(CN)g
. OeEOT @ Cot)

13 Pﬁr 0.
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| 37. {(NH), Cr, O, gives on heating a gas which is also glven by :
(NH,} Cr, 0, T %Y WX @ Y Fresieten &, a8t Ya Ryt it B -
(1) NH, NO, - (2) NH, NO,

(3) MgN,+HO (4} Na metal + H,0

38. Native silver metal forms a water soluble complex with a dilute solution
of NaCN in water in the presence of -

(1] argon (2} carbon diux1idc

(3] nitrogen (4) oxygen

MRl RITEY o O NaCN & R (w7 #) & @ Prerane et
SIRARY & o A fromshie @ A e B

(1} ok (2) wrt TE siteaEs

(3) A (4) SfteRAeT

39. The number of Lone pair (s) in XeF, ils -
x,Fqﬁmmﬁthqs?fﬁlwgrqaﬁﬁw%:t
(1) 1 (2) 2 3 3 - 4) 4

490, A pc:;sitrun is emitted from ,,Na®. The ratio of: the atomic mass and
atomic number of the resulting nuclide is :

Na? %Q?ﬁﬂfﬁﬂzﬁhﬂmﬂr,ﬁ;.qﬁmﬁmﬁﬁsﬁmmw

m = @ 2 3 = =
10 n - 8 5 @ 5

14
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41.

43,

14U/1032/2641ii)

A monoatomic gas undergoes a process in which the ratio of P to V ai.
any instant is constant and equals 1. What is the molar heat capac:itg_r
of the gas 7

wmﬂﬂm'%ﬂ%@mgﬁﬁ%laﬂﬁmm

| Rafevee AT 8RN
- 3R 4R E_
(1) 0O (2) - 38) = (4) =
For a first order reaction :

43,

A - products
|A] changes from 0.1 M to 0.025 M in 40 mins. The rate of the reaction

where [A]=0.01 Mis:

gan e aﬁ%ﬁﬂ ‘% R,
ATUE

af [a]40 B & 0.1M & 0.025 M T IRafFw & R, o1 e
# 3T 919 [A] = 0.01M TR0 : -

(1) 6.94 x 10* M min' (2) 1.73 x 10°* M min’'
(3) 3.47 x 105 M min! . (4) 3.47 x 10 M min"’

During depression in freezing point in a selution, in equilibrium are:
(1] liquid solvent and solid solvent

(2) liquid solvent and,solid solute

(3] Hquid sollite and solid sohate

4} liquid solute and solid solvent

aramEca § O Regw $ e § 3 S T,
(1) =& Remas qur a9 famas

(2) =9 Pevgs @ Ste R

(3) 7w f@q o I Ry

4) v b oo S R

15 ?.T.O.
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44. Which one among the following is diprotic ?

9 @ - iy 7
(1} H, PO, (2 H,PO, (3] H, PO, (4}

48. The pH of 10* M solution of HCIO, in water is :

(1) between 6 and 7 (2) between 7 and 8
(3) 8 (4) between 8 and 9
e # 107 M HCIO, & faea= &1 PH &rn

(1} 6Tur 78 Fey 7 (2) 7T 8@ e

l?JB (4) 87T 9P Her o

H, BO,

46. When two reactants A and B are mixed to produce C and D, the

reaction quotient (Q} in the beginning of the reaction is :

(1) Zero : (2) decreases with time

(3) remains unchanged with time {4} increases with time

mﬁmﬁuﬂiﬁaaﬂraiﬁaﬁ%ﬁrcaﬁ?nmﬁ,mmﬁﬁm

% wrew # sifufhar o (Q) Eem -
(1) =2 (2) 99 F 9 g2y
(3:m$mumﬁaﬁiﬂm(4]m%mﬁ%m

47. E-tqual weights of m.ethanc and oxygen are mixed in an empty vessel
at 298 K. The fraction of the total pressure exerted by methane is -

%@mﬁaﬁ?ﬂagsnmwﬁaﬁamemm:r%
ﬁ%%ﬁﬁ%rﬁrmﬁﬂﬁﬁ%mwmﬁl’n

1 !
1) @ 3 © 3 @

16
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48. Bohr's model explains :
(1) the spectrum of hydrogen atom only
(2} the spectrum of an atom or an ion contsining ane electron only
(3) the spectrum of a hydrogen molecule
(4} the solar spectmmq

AT 1 QST ATSN FET L

(1} 3 H atom & WIFgH &

@) R o oy T ot & AR B el 3 oF TR &
(3) THEPRT Y B QARH B

(4} gt & W H

49. In the titration of Na,CO, by HCl using methyl orange indicator, the
volume required at the equivalence peint will be if that of the acid
required using phenolphthaiein indicator is 10.0 m) :

(1} . 5.0 ml. (2) 100mL (3 15.0mi  (4) 20.0ml

Na, Co, % HCl 27 AN & &, Tty AR S T= #,
HATITH HEAA S AT g g W), AR 78 o7 Reitrae g
g 10 ml. 3Ee= o B, avf

(1) 5,0MoMo (2) 10.0®csho
3) 15.0oflo (4) 20.0THclo

80. The total number of electrons present in 18 ml of water is :

1sﬁoﬁnmﬂ§aﬁﬁrﬁaﬁmt:
(1) 3.248 ¢ 10% (2} 6.023 x 104
(3} &G23 x 10% (4) 10,841 x 10

17 _ B 2 X3
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51.

82.

53.

Section - III

. gvg - Ul
Pl[y.iu and Mathematics

(Physics)

E, m, | and G denotes energy, mass, angular momentum and
gravitational constant respectively, EP/ (m® G?) has the dimensions of :

(1) Ampere (2) Mass {3} Length (4) Angle

T, W, G T Ao Yo PRdis FE: E, m, | a9 G
R (eRa 8 @, EPR/ (m® G Rer dm-
(1) =R 2) W (3) (4) T

[n a clockwise system : which one is correct ?
ferowert Preerg & A vl ¥ 7

(1} jxk=i (2) ixi=0 3) jxj=0 4) ixk=0

| 2

It the torque of the rotational motion about the given axis is zero then
the constant quantity about the same axis is

(1) Torque . ' (2) Angular momentum

(3) Inertia (4) Moment at Inertia
uﬁﬁ%nﬁm%m&agﬂhmﬂ@ww-aqﬁ@aﬁl
I T FH A9Y B Rac R ? |
{1} aT-amget (2 wehg E

(3) <= @) w=9 Aot

18
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854, The height of water fall is 50m. Calculate the difference temperature
of water at the top and bottom at the fall.

[J=4.2 x 107 erg/cal and g = 9.8m/sec’|

U A SUE #H Bar 50 HeR ) qug B st qwr gesdt @ 99
T F arg =G B MOFET A

[J = 4.2 % 107 ont A ofT g - 9.8 /&7
(1) At =0.4351°C (2) At =0.3125C
(3) m=0.1167°C (4) At = 0.0167°C

5%. A man weighting 75kg lift a body of 25kg to the hight of 10 meter in 5
minutes. His power is :

(1) 7.33 J/sec (2) 8.33 J/fsec

(3) 9.33 J/sec (4) 10.33 J/sec

25 RRa Zeaid &1 O i 25 R B & &t 10 feT Sug
a3 5 e 3 gfwar 1 oud atR @-

(1) 7.333@/do (2) 8.333F/¥o

(3) 9.33F/Ho (4) 10.335/Ho

§6. A sphere of mass 'm' moving with velocity "u hits rfmcnr:her static:.una.ry
sphere of same mass. If ‘¢’ is the coefficient of restitution what is the
ratio of velocities of two spheres after the collision ?

' &R &1 O w3 § e Mien €9 B EN 8 T A
Rer M ¥ =@ 1 o RSigem ot o 8t & e h & W%
At N F fy H TR F AT-

v, (1-<Y V, =(l+c]}

i vV, {l+e) . V. l_-c_]

R
19 ._ P.3.0.
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§7. If linear momentum of a body is increased by 50%, its K.E. will be

increased by :
?ﬁg%%iﬂwﬁhﬂsm&zﬁq&ﬁt al ga 7RISt Helt
(1) 50% (2) 100% (3} 125% (4) 150%

58. A simple harmonic motion has amplitude ‘A’ and time period 'T'. The
maximum velocity will be :

UF G FET IRY FA G99 ST A’ auT Sfide Sl T & or
. AfeERaw A% &N !

(1) 4AT @ = () 2=/AT (@ AT

59. A particle moves such that its acceleration 'a’ is incn by a = -bx. The
period of oscillation is :

T TS HOT 1 AT "' Rar ¥ & a = -be B 1 59961 ol we
B IT:

(1) 2z (2) 2x/Jb (3) 2a/b 4) J2x/b

60. A block of wood floats in water with two-third of its volume su bmerged.
In oil the block floats with 0.90 of its volume submerged. What will be
the density of wood? (2 = 10° kg/m?)

(1) 334 kg/m° (2) 445 kg/m?*
- (3) 556 kg/m’ (4) 667 kg/m?

U TRl Ff arit # - YA AT B
%Wo.gogﬁmwmtlagw g‘;ﬂ%g%ﬂﬁr

[ £ = 10° Fm/in)

{1) 334 Peam/+v (2) 445 REar/de
(3] 556 femy/ AP h (4) 667 Brm/P

20
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61. A gale blows over a house. The force due to gale on the roof is :
(1] Dowmward (2) Upward (3) Horvizental (4] Zerco

o I T UT B U @ T W@ ¥ ol B w7 FFA B O
9T 95 PR |

() A e (2) 9T A AT
(3) AT orger H @) I

$2. What is the bulk modulus of water it its volume changes from 100
litre to 99.5 Jitre under a pressure of 100 atmosphere ?

(1) 2.026 x 10° N/m? (2) 4.086 x 10° N/m?
(3) 6.861 = 10° N/m? (4) 7.861 x 109 N/m?
qreit T T HEIREI I[OiTeh FF BN, SR 100 ¥ ST 100
AFgHTSHE 3§ 9T 99.5 e} #d qf@Efaa & war 8 7
(1) 2.026 x 10° =ge=1/HP (2) 4.086 x 10° =FE=/
' [3) 6.861 x 10° gEA/Hp (4) 7.861 x 107 UTA/AR

63. Anobserver standing at sea coast observes 54 waves reading the coast
per minute. If the wavelength of the wave is 10m.What is the velocity

of wave ? :

(1} 9 m/sec (2} 10m/sec (3) 12 m/sec (4} 16 m/sec
OH GHE B A st SaE a@sw e # 54 adnt @l T wen
%) o2 geRe 10 Arec & ot a5 @ & gy @ ?

(1) 9Fo/8c (2} 10Hlo/8o(3) 12Wo/8o (4} 16¥o/To

64. What is the maximum possible sound fevel in dB of sound wave in
air? If o, = 1.3 kg/m? v =332 m/sec and P = 1.01 x 10 N/m?2

arg & e @ B WX dB # w®m & ? ARk p ~ 1.3 Ry
HP v = 332 ﬁu}ﬁ?w P=101x10° qeﬂ,(tﬁ'ﬂ., |
(1) 10048 '{2) 1S0dB (3) 190dB - ' (4 R00dB;

21 PP,
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65. Onc litre glass flask contains some mercury. 14 1s found that at diffcrent
temperatures the volume of air inside the flask remains the same.

What is the volhume of mercury in this flask ? 1{f coefficient of linear
expaﬂs'ibn of glass is 9 x 109/ °C while of the volume expansion of
mercury is 1.8 = 10*/°C.

UF e @ MY P wRe d o A ) g8 g T W
S-S I U GRH I AR &1 AT GHIA EaT 3 |
Tl 1 ANgaT T R e B or=} 7 gt AN W Yda gae
Ol 9x10¢/°C IR HEAT FER ONF 1.8 x 10°/°C &

(1] 50cc (2) 75cc (3) 100¢cc (4) 150cc

66. Two plates each of area A, thickness L, and L, and thermal
conductivities K, and K, respectively are joined to them to form a
single plate of thickness (L, + L,). If the temperatures of the free
surfaces are T, and T, what is temperature of interface ?

& 2 Pt o@% @ Awd AR, Frad L e L, ot e arerenan
K, &9 K, 3, @ MeHT (L, + L,) AR W €& e F1471 9IRT & | aR
A TRt 1 OreHE T, T T, 8 S INAHAE. 1 araHI= 9T E7

N g

K

nlig 5}
K, K
L
K

+L— ) +---
K, K K,

LTI ]
K, 'K

(4) L, L,
K, K,

L
-

[ ¥

22
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67. The variation of the volume with pressure of a fixed amount of gas
has been shown. The change in intermal energy of the gas will be
shown by :

& gu Faa o A e & s auT JEed @ Ay a6 iR
Remr 7 81 W 3 ofts ot ufedw Rres gra =wian

TR 7
t P
w (£ 1 @) %‘
- >V —» Y
P F
@ | B2 @ |49

v v

€8. A glass prism of refractive index 1.5 is immersed in water (p =4/3). A
light beam incident normally on the face AB is totally reflected to
reach the face BC if :

5 oqaelie & MY w o gt J (p = 4/3) 2 SyHIaT
@wmmwwmﬁﬁﬁﬁ{gaﬁkwﬁﬁwgqﬁm
Has BC UY UET AN S

-

2 il 3 L2 3
(1) Sh&}% (2) -j? Smﬂba (3) Sin6 £ 3 (4}‘ Cosfl 2 5
23 ) P.T.O.
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69. Light is incident normally on a diffraction grating through which the
first order diffraction is seen at 32°. The second order diffraction will

be seen at :
(1) 48° . (2) 64°
(3) ©60° ' (4) No diffraction

Tk HFHW ot  gaw w9 9y @9, 320 o Bdes ofen @
e AT ©R 93¢ urer wer ¥ ey @ et e

(1) 48° (2) 64°
(3) 60° - 4) =¥ Rdas ft

79. The resistance R of a conductor varies with temperature as shown in
figure. If it is written as R, =R, (1 +at + M + §t’);

T Resistance

]- B p
Temperature

(1) a& P are positive but 5 negative
(2) @ is positive B & § Bre negative
(3) uo,p & 3§ are positive

(4} a.B & 5 are negative

24
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14U/102/26{lii)

wwwmﬁw%mﬁmﬁaﬁaﬂqﬁaﬁﬁamh
g sfeiy < fr@r s R, =R,(1+at+Hi* + 8%y @

¥ 8

yfers

v

am

(1) o @91 p IS, § OTHD EW
(2) a TATEH, p AW 5 RUTSTE B
(3) «a.p & § T AT
(4) o,p qC_5 HONSH S

‘ 1] Iphate solution, a current
In a copper volta meter containing copper su
of 1 azﬁm is passed for 1 hour. Taking th-:e ECE of cu:fpperlas
0.000329gm /coul, the weight of copper deposited is approximately.

{1) O.6gm ; (2) 1.2gm

(3) 0.12gm (4) 0.0329gm
m@%a‘rﬁrﬁa‘{ﬂwﬁuﬁiﬁmﬁmw% | ofaR #
iz | T oF SaRa & @ B ard @ 30 o do 0.000329
m/ajaiﬂmﬂﬁgqaﬁaﬁrmmﬂrméhm'

(1) 0.6 Mo (2) 12 We (3} 0.12 We (4} 0.0329 HAlo

72. Curic temperature of Iron is that temperature below which it is

(1) Ferromagnetic (2) Electrically conductive
(3} - - Buporconducting (4) -Radicactive
25 ' P.T.O.
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e & N g8 auEE gw aee & Red 91 7w 8

(1) g (2) Fedfa T
3t T 4) IEquirq

73. The wavelength of K, in X-rays produced by an X-ray tube is 0.76" A,
What is the atomic number of the anode material at the tube ?

X-FoT ST &1 S0 K, aenRet W M 0.76° A HISE
U waTer T QU] FEar @ 7 | > i
(1) 10 (2) 20 (3) 30 (4) 40

74, Cal_cgiate the mass in grams of a radicactive sample Pb?* having an
activity of one microcurie and half-life of 26.8 minutes.

Heqaftea Jupr . pp2e F IR RN AW A R P
Rt
ﬂﬁﬁqmmwsﬂag&wm&ang 26.8 e 8

(1) 3.05 x :D"“ gm (2) 3.05 x 10" gm
(3) 4 x10'gm (4} 4.5 x 10 gm

78. A semi-conductor has an ¢lectron concentration of 4.5 x 10" m-? and
a hold concentration of 5.0x 1920 m*. Calculate its conductiyity. Given
k. =0.1353 m? vis?, H, =0.048 m? vg!? :

wmmﬁsﬁ?@qaﬁmmsuo“:ﬁ-ﬂ Tor B N \rEar
5.0x10%31* } | IHE SvetepaT ot o HifeTa
W2 e @, = 0.048 M2 e 17 TR s

[;] 3.8x 10? sm! {2} 1.6 sm!
-1
3] 3.84 sm (4) 6.84 sm?
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(Mathematics)

76. If a function { : [0, 2] — IR, where |R is the set of all real numbers, is
defined by

fxr=(2-x¢)" . ¥xe(0,2)

then {f o 1) {x) is equal to : 10
1) 2 @ x 3) 10° “ 2

aR o AT £:[0, 2] > IR, 8 IR T AAND FHEAA F HI=
®,

fixy=(2-x°)" vxel0.2]

ot oA B, @ (fo ) () TET B

(1) 2 (2) = 3) 10" (4 2"

27. I x2 +x + 1 =0 then the value of

1 e L ,+_1_" .
[x-l-;i- x-l'-x—z X K! 18
ﬂﬁx‘+x+1-0%fﬂ

2 3
(H*i]’f[*’*if) +[x’+~l~;) & W B
X X X

(1) 2 (2) 4 (3) 8 (4) 0

2;, P.T.O.
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1+2i+3i
78. The value of T +1 wherei= Ji.i8:

| + 2i + 33’
o237 T T8 i= 7, @ oATA B
(1) 1+ij (2) i 3) i 4y ©

A
Lo
b
S
G
—
W | 1
>
w|.a

80. If °c, = "¢, then the value of “Cyy 18 :

qﬁ'“c,,%"'c.g'ﬁf "Co BT HIFT B
{1) 20 (2) 21 (3) 22 (4) 23

‘ 2
81. The value of the f.crm independent of x in the expansion of ( X + "!TJ

is ! '
: :

( l' I¢q~ {2) & Ce

3 g |

(3) e, {(4) none of these

28
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[x+—',~]ll%mﬁxﬂm%mmrnﬁ§:

X
(1} teg ’ (2) M
@ e @ TR | B TE

- 2 .
g83. (;%;" 2"] is equal to :

(1] 2¢ 2} ©
3] e , (4) none of these

SR —

{1 2¢ . {2) O
(3) e | (¢) =0 & g T8
83. The rank of the matrix is :
mﬂslﬁ?‘-ﬁﬁ%:
| 1 21 0
|21 2 0
A 2 210
1210
1y 3 @ 2 3) 1 (4) 4
29 . pro.
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84, !f’ X, ¥, Zare in Arithmetic Progression then the value of the determinant

1S !

qﬁx,y,zmmﬁ%ﬁﬂiﬂ?wm%:
3 4 1+2x
4 5 142y
5 6 1422
m o @ 1 B 2 [4) x+y+z

(1
(1} tan” L;J (2) tan"[%}
(|
(3) tan! ﬁ} (4) none of these
;xi+5xy+3yﬂ+ex+7y+4-0m ST T gt 3 i a1 Fo
f1
o () o ()
(3) tan’(—] G T ] g

X

86. The vahue of lim (1“‘2) * ‘4x'+‘x3+l ? is ¢
14 X _Imr_'_zﬂo 1§

jim((|+£]'+ dx & x* 41
;-mll X J-"—lﬂﬂx-FZOOF T 97 % :

(1) ed+4 (2) e+4 {3) e?+4 (4) 4

30
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87. A function v, :IR = {-1,0,1} is defined by

L
1, 05t<—
' 2

1
va(0=1-1, =<l

‘D, otherwise

L

he number of points where y,, is discontinuous is :

ATEA yw, IR = {101}

i 051-::1

\ (t}=;-|, —l-ﬂf{l
H 2

0, 3=

.mqﬁﬂﬁa%lagaﬁﬂ%ﬁ@naﬁwwaﬂ%:

(1) 4 (2) 2 @ 1 (@) 3

; .0y .‘ldr’ : )
88. The solution of the differential equation i Vi’ given y = 0 when
x=0,1is:

R L ¥ y=0 T x=0,%F &7 & °
HaHe FAHTT - =, ey

1) wniy-x @) y-ten'x @) x= . @) yex

3l 9.T.O.
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89. ify = sin (sin x) then

ﬁ*’d—}"tatwﬁ cos? x i It
% d Y 1s equal to

Af% y = sin (sin x) & @

d'y | dy

il O £ a

dx!  dx tanx+ycu3xﬂ'ﬂﬂ?%
(1) cosisinx) (2] tanx

1

(3)

X

90. The maximum value of G] ,in 0<x<w,is:

{%]k F 0<x<wo H AfrFHam 19 R :

(@)

! <
(1) e (2) (;;] (3 o ()
2,
91. The value of m;nﬂ is :
(1) log3 (2) log.2
(3) 1 (4) none of these
N
limd & " &
(1) log3 (2) log 2
3 1 (4) % @ PN T

32

L]
gcollegedunlaa
India’s largest Student Review Platform

T



14U/ 102/26{iii)

" dx
92, Thevalueof | o is:
n d.’(
!chtx F A E
b/ 4 T
(3 Q) (3) .x 4) 2n

93. !f 5 b.c are three vectors thenl the value of b{{L Fa)x{d+ b C]} is
R gb.c T wRRer & &t Bf(CvE)<(d+brEfar wa ¥
(1) o | 2 [ab¢]
@) 2{ab.] | (4) a[a.b.¢]

94. A bag contains 3 white, 3 black and 2 red balls. One by one, three

balls are drawn without replacing them. The prabability that third

drawn ball is red , i8¢

o AT 39D, 3 TN AN 29 e &N B 1 OFH-UH 63 A TR,
Iﬁmgﬁ:%ﬂa@r,ﬁiﬁ]ﬁﬂtéﬁﬂ%ﬁmwﬁﬁa%aﬁwﬁﬁﬁ
TfieeeT @ |

1 | 1 (4] }
(1) E (2) 3’ (3) 2 W0

33 ‘ P.T.0O.
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96.

] tann=\5, 180° <a < 270°. then sina is;

n -fA (2) .--‘;—5 3) ;— (4] .none of these

% tana=+3, 180° <a <270°, & sina ¥ :

3 L
1 -4 (2) -% 3 3= 4 T G P A
Inany AABC,if 2 Cos A = ‘E then uianélc is :
{1) equiiateral (2) isosceles
(3) right-angled (4} . scalene

ReEt a ABC ﬁ,ﬂﬁ?ﬁosﬁ=~§~ g Bryger B

(1) wo=g (2) wfEag
(3) wWHHT (4) Eumarg

- ! ‘
If {a,} is a sequence such that a, =Z;; VreN where N is the set
) | H

of all natural numbers, then ii": 2, is :

aR o}, UH AW TM B Rp ﬂ'.=zﬂ',;l-;.‘#’neﬁl e T—"

TR WIS H wyeey 3, &t lma, ¥
(1) 0 2) 1 (3) e-1 (4 2

34
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98. Find the equation of one line in xy - plane, which passes through the
point (3, 4} and the sum of its intercepts on the axis is 14,

xyﬁaﬁ,@mmm__méﬁrmﬁh(s,ﬂﬁﬂm?ﬁ%ma&ﬁ
g3 99 TESH 3Id: TUES B AT 14 B

b |

=1 @) Il @) xey=7 @ ¥

LS R

(y 3

99, A variable line passes through the point of intersection of the straight

lines 32-+ % =1 and ':-"'-;-ﬂ and cuts the co-ordinate axis in A and B

respectively. The locus of the mid-point of AB is :

w5 o Y @l Ymelt Sri=1 ol Z+lo1 3 Remw Rrg R

it & e P ol B Fa A O B R 9 @t ¥ 1 AR
& Ay farg w1 gy @

l+l»=..].n .|_.+.|..= I_+l=:|‘ 4 l+..l:.=£
M 373 @ 73T @ oty @ '35
100. The centre of the circle x* + y? - 4x + 2y - 11 = Qs :
g k2 +y? -4x +2y - 11 =0 X 8 °
(1) (-2,-1) 2} (2, 1) 3) (-2, 1) # 2, -1
3% P.T.0.
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Section - IV
oz IV
Botany and Zoology
{Botany)
101, The fungus commonly known as bread mouid s :
(1} Penicillium (2). Aspergillus
(3) Rhizopus {4) Neurospora
ATl SedTs A @ S S 9l e R
(1) W (2) Q@Yo
(3) wEITT (4) ~gTregT
102.The isogamous mode of sexual reproduction is found in :
{l) Phytophthora (2} Polysiphonia
(3) Sprrogyra (4) Riccia
TS At A [l gorrr e grn S B
(1) FEFEThveiRT (2) GiliuEwifar
(3) TEERIIEYT 4) Rfersar

103. Which one of the following microbes serves as a suitable biofertitizer
in the water-logged paddy fields?

{1} Aulosira (2} Albugo

(3) E. cok (4} Ulothrix

Fraffes # @ A o Sear ot WY g D F B omar B

(1) owrsarsT (2) qorsgedt ‘

) Fo Fwh (4) g |
104.The early blight of potato is caused by :

(1) Fusarium (2) Ustilago

(3) Alternaria {4) Albugo

36
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G F IR Y DT B BRD B

- (1) gy (2) rderm
(3) orERar (4) ST
108.Methane is a biogenic gas produced by a member of :
(1} Eubacteria () Archaea
(3} Eukarya . (4) Protista
Pra=r o= Sirgafa 9 fra o o= g scaRa okt &7
(1) F@AERT (2) SRl
(3) IFIRIT 4) T
106. Which one of the photosynthetic pigments is water-soluble?
(3} - Carotenoids (2) Xanthophylls
(3) Chlorophylls | (4) Phycocyanin
frer # § Hr-W1 UF 99T SN aui et & gesie dar 87
(1) PR (2) SRS
(3) TS (4) BIHEEA
107.Lignin is the most important constituent in the cell wall of :
(1) Parenchyma ' (2) Cambium
(3) Xylem ' (4) Phloem
RMPE sRfalre vew e S & Rify & siar 8 7
(1) Y&=eprgmr (2} Dfegs
(3) e (4) AR
108. Nitrification is the process of the bacteﬁgl conversion of :
TupRERTT e aTT S B F R g
(1§ NO, to NH, (2) Ny toNH,
@ NH N, (4} NH, to NO,.
a7 P.T.0.
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109.The seed in the angiosperms develops form a the :
(1} Owvule (2) Carpel (3) Embryosac (4) Anther

_&ﬁﬁmﬁﬁmﬁﬁﬂmamﬁ@m%;
(1) N=gw (2) P (3) caaE &% (4) wux

110. The Botanical Survey of India is located at :

(I) Lucknow {2} Howrah

(3) Cutiack {4) Bhawnagar

WA 1 AAfE 7S R ove e 7

(1) TETSH (2) ®EST (3) & (4] WITANT

111. The most important function of microtubules in the eukaryotic cells

s to:
(1) form mitotic spindles (2) excrete cellular wastes
(3} form ribosomes (4) help in respiration

) FErTEAE el o oz @ sy
(4) CEAF g &9 ¥ wfererar

112.The protonema stage of the moss plant is a :
(1) Haploid (2) Diploid (3) Triploid (4) Polyploid

(1) ey (2) RagPer  (3) B (4) =g

38
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113. Which one of the following chemical ions holds together the two
subunits of 70S ribosomes?

(1) Calcium (2) Sodium (3) Magnesium (4] Iron

ﬁwﬂﬁa?m-quﬁmmmsmﬁrﬁm%%wmﬁﬂ%wm
9 TEar B-

() wEm @) AWfemm (9) AR () e

114. Which of the following is a non-proteinaceous enzyme?

(1] Lysozyme (2) Ribozyme

3) Lipase ' (4) Taq polymerase

A o RF-dT N omem B 7

(1) ST (2) OEFEoTET

(3} RS (4) TH PRI
115.'Opium’ is obtained from which of the following parts of the ph':nt ?

{l) Roots (2) Seeds

(3) Leaf-buds (4) Unripe capsules

dret B RBRS T WPT & ‘ST Tre Bom B 7

(1) o5 & 2) & |

(3) it & &N | (4) STUTERRI Bagw @

116, Which onc of the following enzymes helps in the fixation of '.'.Z'ill2 by
green plants?
(1) Urease (2) Rubisco (3) Lipase (4) Ligase’

;-mﬁﬁa?ﬁqmwﬁwﬂco %ﬁaﬂwﬂméﬁr
ra ‘
(1 P - (2) SRER @) mﬁm marm

39 . :f.'no.
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117. Which of the following is the main cause for acid rain?

(13 Ozone deplction (2)
(3) Rise-in green-house gas (4)

Increased lcvel of UV-B-
High level of SO, in the

atmosphere

PP & @ A ob orcta ast s g HRE B 7

(1) A= o foang

(2] UV-B & a1 7 98d

(3) 1 aeg 9 § Fga

(4) SO, ¥ TEe AT argHza H

118. Which one of the following pairs is correctly matched ?

(1) Streptomyces - Penicellin

(2) Gelidium - Saprophytic

(3) Agaricus - Mushroom

(4) Azotobacter - Photosynthetic
Frer gt /' @@ gafea & 7

(1) TWemrd - L ERSSIE

(2) Jzay - Imfefes

(3) SFIR%H - ASH

(4) owietdFaT - TETT- ity

119. The haploid plants arc obtained from :

(1] Pollen (2) Zygpte

[3) Seed germination {(4) leaf cells

v A PRl gt o R 7

(1} Wiele1 | (2) A

(3 AEfE A= (4) o=l P FfeEm

40
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120.The erythromycin antibiotic is the killer of- : |
(1) Fungi (2) Viruses (3) Eubacteria ({4} Green algae

i CRareE R R e ¥
(1] a6 (2) m 3) s (4) T EE

131, Which one of tlu:- following endosymbionts is associated with the
carolloid root of the Cycas?

(1) Rhizobum (2) Anabaena
{3) Frankia (4) Azospiriilum

ﬁwﬁﬁ@#wm%eﬁmmﬂ@mﬂmm
w8 ?

1y EEnREy (2) afRrT

(3) BFsar _ (4) qafrms?aﬂ
122.Ari! is the edible part of which fruit ?

(1) Litchi (2) Mange

(3) Banana _ (4) Appie

g T & URET Wi @y owen 8 7
(1) @R (2) W™ (3) N 4) «d

123. Pastocyanin is the metalioprotein that contains :

mr@umﬁwrsmﬁz@wlﬁa%mﬂwm%?

{1) -MO 2) Zn (3} Fe (4] Cu
324. Endosperms of angiosperms are : |
{}). Dipleids (2) Haploids
@ Fetropioids (#) *Triploids
41 P.T.0.
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R S g e e B

(1) e @ e
(3) =i (4} FErim
128.The credit of ‘Green Revolution' in India goes to !
(1) B.P. Pal (2) M. 8. Swaminathan
{3) R.P. Roy (4} P. K. Gupta |
o H BT iRy B e B wr AT R 7
(1) do fo gr (2) THo THo wERETT
3) o dic g (4) o Po =
43
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(Zoology)

126. Five kingdom approach of classification was suggested by :
{1) R. H. Whittaker. (2) Carolus Linnaeous
(3) Casper Bauhin (4) Thomas Johnson

et @ Gig o SR Y G T o
(1) oTR. 0. RE2®Hy F (2) &g FhEa & @a

(3) P TMIA & AR (4) GTRE SFEA & &
127. Zoological name of domestic dog is !
(1) Felis indicus (2) Equus caballus
(3) Canis familiaris (4) Canis vulpes
R H B g Jefrr A9 B
(1) BRI siswd (2) §FTT HATH
(3) $fam FEFARG - 4) P T
128. Liver fluke belongs to phylum :
{1) Aschelminthes (2) Platyhelminthes
(3) Annelida ' {4) Cienophora
g FH wa § aaEfa ¥
(1) TEhele-4rst (2) QRO
(3) Q-nfrsT _ (4) AR
129.Which of the following is net characteristic feature of phylum
Chordata?
(1) Notochord (2) Dorsal hollow nerve cord
[3) Ventral nerve cord (4) Pmrcd pharyngca] gill slits

43 P.T.O.
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Fr=ifofae & @ S wder @9 & oo adf & ?
(1) e (2) T "rerer @@ 91
(3) ufy gim dftrem =91 (4) T weell Ry < et

130.Which of the following is egg laying mammal?
(1} Flying fox (2) Kangaroo (3) Blue whale (4} Platypus

FeRfea @ s AN aar =99l & 7

(1) UET W (2) PN (3) Mf o (4) Sy
131.The epithelial cells found in our lung are classified as :

(1) Simple epithelium (2) Compound epithelium

(3) Squamous epithelium {4) Glandular epithelium

A P68 | yrdl oy arch afiferierae 3
S | FIER =1 # | Pra aes

(1) Trarer adffeferas (2) = qifaferEs

(3] wihl iy (4) Tt odfafees
132.Excretory organs of carthworms are called :

(1) Metanephridia (2} Solenocytes

(3) Malpighian tubules (4) Green glands

FYL F IO HT G HEY ¢ | |

(1) HershiEar (2) MANEELE

(3) H=diftrm=r Aferend ' (4) M HfepEy

133. Typhlosole is found in the alimentary canal of :
(1) Cockroach (2) Pigeon {3) Earthworms (4) Fish

TR, SRR & 9l onely &
(1) ez (2) wgEy R .FgA  (4) ged

44
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134.Which one of the muscles proteins shows enzymatic activity?

{1) Actin (2) Myosin
13} Tropomyosin (4) Troponins
P-dt v W AR Rrvas afvaar S nafefa s 8 7
(1) o= (2} ARG -
(3) AR (4) N
138.Which of the following animal cell organelies contains genetic
machinery?
{1} Lysosomes | (2) Golgi Complex
(3} Ribosomes (4) Mitochondria

Wﬁ%ﬁﬁﬁﬂﬂmﬁﬁmﬂmm
? :

(1} SgErErR (2) M BRART

(3) TEIEr (4) WEEEROEAT

136.Removal of the terminal phosphate group from ATP provides energy
* bycleaving .

(1) Glycosidic bond

(2) Phosphodiester bond’

(3) Phosphoric acid anhydride bond

{4) Phosphoric acid ester bond

(3) WIERINE A TATEFRIRS T4
(4) BIERNS T TR T

4 5 ’1.1'.0.
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137.The tissue that maintains the normal blood glucose level during

fasting?

(1) Skeletal muscles (2) Liver

.{3l Heart , . (4) Pancreas
aimeﬁﬁﬁ&ﬁ#ﬁﬂ%wm%ﬁmmmmﬁr%;
(1) ey QfRw (2)

(3) &9 (4) ST

138. Which of the brain lobes is associated with executive Tunctions?
(1) Occipital lobe (2) Parietal lobe
(3} Temporal lobe {4) Frontal lobe

Afes w1 B @1 RvEw gEamRel 3§ g & 7
(1) SiErdiea s (srgwariia Rvs)

(2) Tfeew R |

(3] T fyvs

(4) g Rvs

139.Na’-K* ATPase pu:ﬁp IS :
(1) an anti port ion channel (2) a symport ion channel

- (3) a ligand-gated ion channel (4) a leak channel

Na' - K° AT Pase P & :
() 3= & gfrddt g7 upt (2) 98 9o+ 3T Wit
(3) T FAYE-NTT T a7t 4) Rame q-p-f
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140, Which part of spermatozoa releases enzymes heeded for fertilization?
(1) Middle piece(2) Tail (3) Acrosame  (4) Head

WA 3 e W & P & 3 araves Boas g o
??

(1} 7&F WY 2) $e (3) @ (4) sfrd

141. Glucose and fructose in sucrose are linked with :
{1} A - 2) glycosidic bond (2) B —4) glycosidic bond
(3) a{l-4) glycosidic bond (4) a(l—2) glycosidic bond

wher § et AT mEw Ay J 32 B &
(1) 8(1-2)ERTRITE Ty (2) B —» 4)TNSHIUEE T7e
(3) ol —4)EHIEEEH T4 (4) a(l—s 2y gHaisE T

142.An mRNA with a sequence §'- UAA GAC AGG CGA UGC CUA-3' is
reverse transcribed into ¢cDNA. Which of the following has correct
sequence of the cDNA?

% mRNA RTE® %% 5'-UAA GAC AGG CGA UGC CUA-3' ITwmia
gfafify cDNA o o Sreh ® | Preffre & § 39 @ cONA = &8
w R

(1) 3-ATT CTG TCC GCT ACG GAT-5’

(2) 5-TAG GCA TCG CCT GTC TTA-3' |

(3) 3’-AUU CUG-UCC GCU ACG GAT-5’

(4] 5'-UAG 6CA UCG CCU GUC UUA-3'

47 - PT.0.
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lfa.The theory that the first form of life could have-originated from pre-
existing non living organic molecules was proposed by :
(1] Oparin and Haldane {2) Watson and Crick
(3) Stanley Miller (4) Louis Pasteur

ST % SR e # SR gladt Froffa st st )

Rz &7 ufrdres Rear & - i B,
(1) oM T 2w ' (2) are|T ol fve

(3) B BT (4) YW IrEEY

144. Which one of the following is not an example of convergent evolution?
(1} Eyes of octopus and mammals
(2) Flippers of Penguins and Dolphins
(3) Limbs of man and fins of whales
(4} Wings of butter fly and birds

mﬂammmﬂwm%?
(1) JffER9E ot maurd & afgd -

(2) ¥ IR =Re A a,

(3) 77 B o™ ik B9 D 4

(4) Rl ok fRfeat & 4w

148, EcoRl, a restriction enzyme, functions ag
(1) Endonuclease (2) Exonyclease
{3] Endo peptidase (4) Esterase

Eco Rl, T aftraq yvash, et wear & -

{1) Q@ﬂfaﬁﬂw (2) Qﬂ@ﬂﬁﬂﬂw
(3) T2 Yerzew (4) T

48
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146. Malignant malaria is caused by infection of |

5,

(1) Plasmodium vivax {2} Plasmodium malaria
{31 Plasmodium falciparum . (4} Plasmodium gingivalts
qarel) #fRar & HEHH B Fs
(1) STHETT TRIF (2) QT FHfear

' (3) e T (4) cromiEaR forf~adfere

147.81RNA standa for :
" {1} Small intermediate RNA (2) Small interfering RNA

(3) Small interacting RNA (4} Small intermittent RNA
si RNA 1 arqd 2 -

(1) &Y Hehadi RNA (2) MY FTIHILT RNA

(3) @Y F=UFET RNA (4) @Y AAURAE RNA

148.The secretion of sebaceous gland is :
(F) Sweat {(2) Tears . {3) Earwax (4) Sebum

qayEa Tt @ wEer B
(1) &< (2) Y (3) &1 &€ (4) ®Eg |

149, Which one the following peptides is removed during maturation of
insulin?
(1) A chain (2) Bchain (3) C peptide (4] D peptide
# qRymEs & A Pratafaa § § f Ters w8 A
¥7? -
()T Nam (2) & sfEen  (3) W Ty - (4) £ I=ES

49 - | P.T.0.
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180.The interaction between two species where one species is benefited
and the other is ncither benefited nor harmed is called :

(1) Mutualism (2} Commensalism
(3) Parasitistm ' (4), Amensalism

& Rt & s & fraT e fed o o Y arefaa ek B
et 7 oot v 7 Wit @ ol A gwam F el 8, Hél it

2
(1) R (2) FHATHH
(3) -Sfesifa (4) TTaReT

S0
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Section -V
"avE -V
Agriculture

181. Bodo mixture is :
(1) LF‘ungicide (2) Pesticide {3) Weedicide (4) Herbicide

St P 8 -
(1) TR AWEE (2) HBleANEE:
(3) TITER A9 (4) EdiaEs

153.Element required by plant for oil formation :
(1} Nitrogen (2} Potassium (3} Calcium (4) Sulphur

a1 FElor & e wow! & d@ A sTavaswar e §
(1) “WFIH (2) 9rfdTmm  (3) M (4) TR

153. Percentage of oil in Castor :

v # o = qfaanT &ar g |
(1) 52% 2) 44% (3} 62% (4) 65%

184. Percentage of nitrogen in calcium ammonium nitrate is :

Hitery Y AEee § ARSI $H IiHT qET @
- ) 18% (2) 25% (3) 30% (4) 35%

158. Highest percentage of nitrogens in stool of animal :

(1] Cow {2) Elephant (3) Sheecp (4) Horse
qg B Me A TR B A=y AR oo 4w ¥
(1 @ =i @ W o) W
51° P.7.0.
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156.Colour of Laterite soil is :

(1] Red (2) Yellow (3) Green (4) Black
ATage It H T #r ¥
(1) @@= 2) dem (3 = (4] T

157. Which of the following are features of Indian agriculture?
() Disguised unemployment (II) High productivity
(I11) Majority of large farmers (IV) Gamble in the hands of

Monsoon
(1)1 and II (2) It and 11
(3) It and IV (4) land IV
fFr 8 @ &9 sl gy e ower 8 7
m fof S Derrh (I I IqREEHAT
am a2 ReErT &t i (V] T=ga & oI
(y13ficn (2) 11 &N il
3) 11 ATV _ (4} 1 31V
168. The impact of Green Revolution was felt most in the case of :
(1} Wheat (2] Rice
{3) Pulses (4) Oil seeds

&Ra wifta & atftreaw wwE B § @ Pead wwd o R
b -1

(1) 2) wEHR (3] Tt 4) T

159.[n India maximum sugarcane is grown in :
(1} Madhya Pradesh (2) Tamil nadu
{3] Uttar Pradesh . (4) Maharashtra

52
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iy § waifees = ¥ far omen ®
(1) ™T Ry (2) aAEIg (3) IEK WY (4) W

160.Indian Vegetable Research Institute is situated at :

(1} Bareilly {2) Kanpur (3} Karnal (4) Varanasi
AN W WS STTHI = feaa & -
(1) == (2} FEYX  (3) wHEOW (4) arqerdt

161. Percentage of rice in paddy is :

gy= A g 1 gfosir \En aid ¥
(I} 5.0 (2) 7.0 (3} 80 4) 9.0

163. Fungi are active in soil at pH?

T PR Qo 9o a¢ ufty F Rearsfter wwd &7
{1) s.0 (2} 7.0 (3} 8.0 {4) 9.0

163.Optimum temperature for germination of wheat is :

T & Sigie BN % Suyra Naa R ®

(1] 14-16% (2) 24-26c (3) 30-32% (4) 34-36%
164. Kisan Khad' is Know as :

(1) Ammonium sulphate (2) Ammonium Nitrate

(3) Urea (4} Calcium Ammonium Nitrate

Tou ' Heardt ® :

{1} ey e (2) aﬁﬁuﬂ REIT

@ g (43 AWEET AW TEiT

53 P.T.0.
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165.Indian Pulses Research Institute is situated at :

{1] New Delhi (2) Kanpur (3) Bareilly {4) Kgrna.l“ |
qrCfiT EEE STHYU R e 3 .
% Rl (2) &Yl (3) FE . (4] B
166.'Jhulsa’ disease is"due to deficiency of :
(1), Zinc¢ (2) Iron (3] Copper {4) Sulphur
gerar 4Tt o o | et ® -
) 2) e (3) @ {4) WEET

167.Generally U.P. soils have organic matter pcrccntagc _ v
Wﬂﬁﬁﬁﬂmmmﬁmwuﬁ

"

ot B
(1) 0.1100.3% (2) 0.3 to0 0.5%
3) 0.5t00.7% (4) 0.7 t6 0.9%'

168. Temperature of cold stnragc for storage of potalo bhuuld be :
AT % oERer & R B RS /1 AT ST =iy

{1) 10.0to 7.5% (2) 7.01o05.5%

(3] 5.0to3.5% (4) 1.0102:5%
169.Micronutrient essential for paddy cultivation :

(1) Molybdenum (2) Zinc

13) Copper (4) Boron

¥ % R g aw Sasas B

(1) MR=Dw (2) e (3} X (4) A

54
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170.Which crop is both leguminous and oilseed
(1] Sunflower (2) Kusum (3) Soyabeen {4) Mustard
Fret o @9 §1 waa qaes ol freres 5 2
(1) g@mgeE  (2) Fgo (3) wEEE (4) wXEt

171.[n India the ratio of the population of men and animals :

Wt ¥ g3sat @A gyt A ATETET F OTuRT R
(1) 2:1 2) 1:2 (3} 1:3 (4) 1:4

17Z. Storage of semen in refrigerator is done at temperature ;

AT # e aregs 9t i @1 woERer ey o &

(1) 5°C (2) 10°C (3] 15°C {4) 20°C

173, Lactation period of Murra'h buffalo is :
(1) 260 days (2) 300days (3) 330 days (4] 360 days

gt Ag @ heaw g e dar ¥

(1) 260 B (2) 300f7 (3) 330RS 4) 360 R¥
174.Indian hen on an average gave eggs :

g gt o af & 9o A 3R R

(1) 20 (2) 40 (3) 60 " [4) 80

178.The average percentage of fat in paneer is :

T # Far @t e ufea oEr g @R @

Al) 15 (2) 20 (3) 28 {4} 35
176.Disease caused dué to deficiency of Vitamin 'B’ is :
(1} Scurvy & (2) Night blindness
{3} Bert Deri {4) Rickett '
55 . P.T.O.
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Rrefi= «f o o8 4 W7 an 2 -

(1) @Bl | (2) Tt
(3) = I (4) e
177.Sccd rate per hectare for cauliflower is :
(1) 200 gm (2) S00gm (3) 800gm (4) 1000 gm
GF MW @ [/ @9 T 9 ¥R

(1) 2003 (2) 500a™ (3) 800 9™ (4) 1000 AT

178, Pungency of onion 1s due to :
(1) Allyle Propyl disulphide (2) Allyi propy! sulphide
{3) Carotene {4) Alicine
st § dramgs 8k 3

(1) TOES DOEA 3 OFRES  (2) TSV SUEd q9eEs
(3) HA (4) R

179, Consolidation of holdings as & land reforms measure failed to take
“offin : . |
(1) Punjab {2) Haryana (3) Tamil Nadu (4) U.P.

@gﬂﬂ%@sm%mﬁﬂmﬁwﬁ%ﬁmwﬁm
F ISA wEl /9T Gt 7

(1} 491 = (2) sRam  (3) ST {(4) ST USW

180.Vitamin present in green ctulli is :
(1} Vitamin A (2 *Vitamin B (3) VitaminC (4) Vitemin D

aﬁﬁﬁﬁﬁaﬁqwm%
M Ref@ o () fefm d ) fefm @ ¢ b &

56
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181. Mango is fruit :

(1} Sorosis (2) Drupe (3)
3T HT &
(1) ‘@dfE (2) W (3]

182.Carbon percentage in raw iron is :

FHeam AET J FEA B FRI9RT B B

(1) 1.5% 2) 3.5% (3)
133. Unit of work is :

(1) Kilogram {2)

(3) Pound (4]

FRE At gpE B

(1) et {2)

(3) 9= (4)
184.0ne horsepower is equivalent :

(1) 674 watt (2) 71%watt (3}

0% BriE (S7vg afR) aET O B

(1) 674 a1 {(2) 7149q< (3}
185, Lowest part of atmosphere is :

(1} Troposphere (2}

(3} Stratosphere | - (4]

- qrEvET 1 gan P e g
(1} ZERIaT (2)

[

3 wdRdEET .

(4)

57

LRU} LU4S Z0{11]

Berry MNut

(4)

(4) =

5.5% (4) 7.5%

Jule |
Meter Kilogram

I
Hex fdanam

764 watt

746 watt (4)

746 TATZ (4) 764 A

Mesosphere
lonosphere

ArfesET

- . R
!‘B'I o
X S -
-, . - e E:

P.1T'O.
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186.Regional rural banks were established :
frg arfior ¥t A T &R

(1) 1970 {(2) 1975 (3) 1980 4] 1985
187.World Bank is situated at :

(1) + Newyork {(2) - Jakarta

(3) Washington D.C. 4) Tokiyo

Ry %% Reua ¥ : |

(1) =yamh (2) ol

(3) af¥TeT ANodo (4) AfHaY
188.0ne hectare nursery of paddy transplanting can be done of

(1) 10 hectare (2} 15 hectare

(3) 20 hectare . (4} 25 hectare

o BT Al § g & A ¥ durd o W3-

(1) 10 BFREI (2) 158U

(3) 20 FFRAT (@) 25 ¢RI
189. Name the State of India having average highest production of cbtton :

" (1} Punjab (2) Maharashtra

(3) Madhya Pradesh {4) Uttar Pradesh

Hrg 1 e SRy BRAT IgET Aeed | e g § wEd ot 7

(1) O (2) WeRg (3) A ARY (4] IWX MR
190. Colour of ash of good tobacco is : |

(1} Yellow (2) Red (3) Black (4) White

el @R W WS B T A4 2

(1) drew (2) @ (3) e 4) W

58
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191. Study of green aquatic thallophytes is Known as?

(1} Parasitology . (2) Phycology

(3] Mycology : (4} Myology
@—Wﬁmﬁﬁwﬁ&tﬁ%mmﬁmwﬁ?
(1) qE-Shifeeit | (2) AT FHeran
(3} TP FHTIT (4) wWia-9sf ormgEm

192. Nitrogen 18 present in Urea as :

(1] Amide {(2) Ammonia (3) Nitrate =~ (4) Nitrite
g % R fpw w9 d o ot & P
(1} TS (2) oFfET  (3) WRE (4 TEIER

193. Dwarf varietics of wheat were introduced in India in which year ?

wrcerrd 3 et R @ g o ot e A @ g -
(1) 1960 (2) 1963 (3) 1970 (4) 1973

194.Eatable portion of potato is ;
(1) Root 2] Stem  (3) Branch (4) Flower

T W @ G AT ¥
(1} 9% (2) T (3) e (4) I

198. Colour of Murrah buffalo is.:

(1) Dark black - (2) . Capper type
(3) Brown c (4) m,w;'pqaw-
' P.T.O.
e 59 ,
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it Ha = e ¥

(1) &I B _'12] ai®
(3) 10 - (9 T=p de
196.Origin of Jamunapan goat is : | o
(1) Etawah (2) Aligarh (3) Agra "~ {4) Etah
(1) g2 (2) owirg  (3) S 4) @&

197.NAFED is an organisation of :
(1) Nagpur orange growers
(2) National level farmers

(3) Marketing agency for inter-state marketing of agricultural
produces

(4) WNone of these

NAFED /=1 # & Rraat e & ?

(1) MY & HAA It B

(2) g W) % RrEet A

(3) HH SEl B TN RAyvs § =it
(4) SWE 7§ DR T

198, Average temperature of hen is :

it @ ofraa aeww dar ¥
{1) 101°F (20 103°F (3} 105°F (4) 107°F

60 30,000
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\

199. Crap insurance is the monqgoly of
(1) National Insirance Coliig oy
{2) General Insurance Coi'poraﬁnh
-(3) Life Insurance Corporation
4) NABARD
e e A e &
(e ity Bt (2) R ity SR
(3 s TR BNRET  (4) ¥ (NABARD)

mﬁl rate per hectare of chilll is :

P oy Adar W T b
(1 05kg (2] 15kg 3) 3.0kg (4] 5.0 kg

61 . 30,000
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ROUGH WORK
% &

62
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ROUGH WORK
6 W

63 P.T.0,
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10.

12,

i3,
14,

(mgﬁm#mmwwmm-w#ﬁgw?‘w
aw - wTeR ar-arge 47 § 8 fra) e st

¥ frer & 10 fire F < @ 2@ & fF Yy B wi 7S
m%ﬁ??ﬁéigﬁawaﬂgﬁqr&mﬁmwaﬁwmw-ﬁﬂwﬁwm
TYIYE @ gEdt g W H S
Titer WA § FraTo o yav-un & s, TR A1 A &t ol g e '
¥ A @l
Tvr-uw e @ fry i ¥R 7 @ 0 a7 off g &2 AT 39T T o W
Fae FAT-F & @ JROIET [HaT W |
maﬁa:quammmaﬂmmw-wmﬁqﬁmﬁawmhm
m-u%mwﬂ&z#mmmmwﬁaﬁmﬁﬁ#ﬁﬁ*
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